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AREET H 2 3 H

OUTKELHNV: 246789 INBERLKV: 121314151617

(AR PRI )
I IR S S TV ST N T

. Y B ANE
HEARE DS b 16 5 43 41 84 12.0 72.0 ANE

3 fir EXE: NN 49 46 95 21.6 734 ANE

A JIIF 3% 40 42 82 8.4 73.6 ANE

5 iz 5 IR 42 46 88 14.4 73.6 ANE

6 fir AR G 44 43 87 13.2 73.8 ANE FHlE

7 47 H L& 45 48 93 19.2 73.8 ANE

8 iz KB #H] 51 48 99 25.2 73.8 ANE

9 fir KA K 42 47 89 144 74.6 ANE

10 £z T HER 47 47 94 19.2 74.8 ANE

11 £z /NG f 42 39 81 6.0 75.0 B G

12 i HIENEESS 47 46 93 18.0 75.0

13 fif X 41 44 85 9.6 754

14 iz IR IE= 46 45 91 156 754

15 fif JEHH Bk 48 42 90 14.4 75.6

16 fiL R 75K 44 46 90 144 75.6

17 L B ARk 53 48 101 252 75.8

18 iz — i = 43 45 88 12.0 76.0

19 fiz AT )i 56 56 112 36.0 76.0

20 iz i A 47 51 98 21.6 76.4 TRE

21 iz w AN 54 44 98 21.6 76.4

22 r <7 I At ] 50 47 97 20.4 76.6

23 fif SR Y 46 44 90 132 76.8

24 r A BFaA 48 42 90 132 76.8

25 fir SH Ik 51 44 95 18.0 77.0

26 ir HR iR 49 46 95 18.0 77.0

27 fir iy —H 51 49 100 22.8 772

28 fif 37t A 42 44 86 8.4 77.6

29 i ) b iEE 48 44 92 144 77.6
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33 fir
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40 7
41 fiz
42 iz
43 fir
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